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otemeff TrRIYg 319 gTeal § SR <1 (Examinee write answer in their own words as far as
practicable.)

owq%ﬁiﬁm% 2l (The total number of questions are 48)

T UF T IR TS H T fham T 81 ocdep @S | FIReIRR SR <7 3 81(The question
paper is divided into four sections. It is mandatory to answer each section as per the
instructions.)

TS —A H U4 GEIT 01 9 25 b Tgfacbed1d T4 €l Uedieh T4 & foTq 1 3fep (iR & | Icdeb o4 b
YR febey AU & | LT e b1 e BISRY | Tefer I & foY 1S 37eh &l I SITYT | (Question
numbers 01 to 25 in section-A are multiple choice questions. Each question carries 1 mark.
Four options are given for each question. Choose the correct option. No marks will be deducted
for the wrong answer.)

TS —B N UH AT 1 A U5 G&AT 9 T JACTTTRIT T4 81 375 A fpeal A1t T8l b IR Aferepas
TP I1FT H SIOIGl YAd U B A9 1 37 iR 8 (Section-B contains very short answer
questions from question number 1 to question number 9. Answer any seven of these questions

in maximum one sentence. Each question carries 1 mark.)
TS —C H Uy AT 1 I T8 TEAT 8 T TSI T4 81 T4 3 fhee 6 Tl & IR 31erae™ 50
gTeaT H SHOTTI e U &1 J1 3 3idh (e TRe 81(Section-C contains short answer questions from

question number 1 to question number 8. Answer any 6 of these questions in maximum 50

words. Each question carries 3 marks.)
WE —D H U GAT 1 I U 6 Tb SIESTRIT I &1 379 I fhral IR T8} & SR 31fIehd™ 100 9Tea
5 T UR% T @1 99 5 3 fFrIiRa %I(Section-D contains long answer questions from

question number 1 to question number 6. Answer any four of these questions in maximum 100

words. Each question carries 5 marks.)

C++ is developed by

Dennis Ritchie
Ken Thompson
Martin Richard

Bjarne Stroustrup
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String Terminator character is

None of these

DBMS Stands for

Database Management System
Database Manual System
Define Management Solution

None of these

The smallest individual unit in

Semicolon
Data type
Token

Keyword

The process of finding the location of the particular
element in the array is called

Traversal
Searching
Sorting

None of these

The Boolean expression A.(B+C)=AB + AC is
Associative law

Commutative law

Absorption law

Distributive law

Destructor name is preceded by

& H*
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The term ‘attribute’ refers to a

Table
Row
Column

Relation

Main is a /an

Object
Function
Literal

None of these

F stream class is used for

Input operation

Output operation

Input /Output operation
None of these

A set of logical operator is

+-*1%
?
><>=<=

None of these

Pointer is a

variable that holds address of other variable

Pointer name is preceded by *

void pointer is a pointer which can hold the address of
any data type

All of these.

STACK follows

GIGO Technique
FIFO Technique
LIFO Technique

None of these
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None of these
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When several classes inherit the properties of same

common class is called.

Single inheritance
Multiple inheritance
Hierarchical inheritance

None of these

People standing in a line is an example of

STACK
QUEUE
ARRAY
Linked list

................... is a Browser

C++
Firefox
Telnet

Cookies

A set of conditional / ternary operator(s) is / are

+1_v*7/v%
>,<,>:’<:,::'!:
&&,||,!

?:

Which operator has the lowest precedence?

Sizeof
Unary
Assignment

Comma
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In C++ programming strlen() function is used for

Count length of string
Copy two strings
Compare two strings

Concatenate two strings

In C++ programming array index is always starts from

Which loop checks the condition on

Top
Bottom
Middle

none of these

Which of the following is the symbol for AND operator?

Il
&&

&

none of these

What will be the output of the following condition
statement A = 15>157?15:16

16

15

31
none of these
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If an array is declared as intarr [5] [5], how many
elements can it store?

10
25

In C++ programming ‘v’ is used for

Form feed
Line brake
Vertical tab

Alarm

Write the difference between Data and Information.

ST 3R a1 & srer 3R fordl
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What is Token? What are the names of different types of Token?

I T 872 fIR—T TR & e o 19 T 872

Write the differences between Unary operator and Ternary operator.

Y SRR 3R TR SR & e iR Rl
Give the output of the following

#

void main()

{

int x;

for (x=1;x<=12;x*=2)

cout<<x<<endl;

}

f=TfetRer T aTSeye &
#

void main()

{

int x;

for (x=1;x<=12;x*=2)
cout<<x<<endl;

}



What is function? Write the types of function.
Hae a7 &7 Hhae & TR fe1Rau)

Explain the concept of Encapsulation.

TADRICTI ST STTLRUIT BT TSI

Explain the concepts of minterm and and maxterm.
fieH 3R HaaeH 6t STERUTR o FHATEY

Define
a. Hub b. Repeater.

R ™
a. &9 b. Rdiex.

What is Inheritance?

TN T 87
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(Section-C)

Write a program in C++ to find the sum of any five odd numbers.

fopt oft ey fowT HReamatl T 1T S Y & forq C++ o T forall

What is Inline function? Write its advantages and disadvantages.
SIS thara = T &2 9P T 3R &1t forRau

Define Data types, Explain different types of datatype with examples.

ST UBRT B IR o, SSTERUIT & FTe It~ YR & Sy & T o)
What an algorithm of Bubble sort of Binary search.

TE HAT I8l YR BT ITSINT T DT U TINSH Bl

What is array in C++7? Explain its types.

C++ ffarray TITE? WWW’I’S’QI

Draw the circuit diagram and truth table of X + xY.3.

X + x Y.3 3T UG 3TRYF 31k G TROf a7

Define single inheritance and explain with suitable example.

TeheT G T ARMTINE BN oI SUwh SaTexvl Afed T

What is guided media? Explain.
ffare Mfsar wm &2 9Tl
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What is an operator overloading and operator overriding? Explain it with a suitable example
STTREY SR 3R STRCR SRS ET FT 22 TH ST IITER | TG

What is an inheritance? What are the different types of inheritance supported in C++? Explain all
inheritance supported in C++.

STERCT T 82 C++ H FARNT 3RS & A= TR 71 82 C++ H T Tff $7eReH & IR 7 o]
Write a program in C++ to find the sum of any five numbers using constructor member functions.

PRI A TareT T SUIRT Fxep foedT off Oty AT T ANT ST vy o folq C++ H T T forey |

Obtain postfix notation for the following infix notation manually.

o

FreATTREeT $ITther AT & foTg URefther ATcer H7g3fel U J UTH BN

What is logic gate? Explain fundamental logic gates with circuit diagram and truth table.
AT e a7 82 Afdhe SRR 3R AT dTferdT & ATer Hiferd T e & SIReaT an|

Write short notes on the following.

a. DDL b. DBMS
c. Tautology d. Server
f=ferRad uR wférg feoafort ford
a. DDL b. DBMS

c. CIerarait d. R
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